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“It is wholehearted purposeful activity

—

I8 AITe rarereT ¥ amifrd AT @ aren

organised in social environment.” This TS Iqewql e 21" T8 B Fneqor
statement indicates towards which teaching 2 frg AR & 3R G&d pxar £ ?
method ?
. (A) wEgH
(A) Demonstration
(B) Heuristic (B) € n e
(C) Problem Solving (C) T GHME
(D) Project (D) ¥
2. The level of anxiety which makes student 2 fRiaT @1 98 WK o O @ 4 B ford R
receptive of learning is : AT S, TBE
(B) Excessive anxiety (B) s R
(C) Normal anxiety © B
o h ; —— . A
(D) Learning aéno relationship with anxiety D) ) a1 Rt 3 P W T
3 In team teaching, a team of : 3. %o R § <o ®
(A) Teachers, who prepare the teaching plan (A) 3mATP] P, Gﬁ R AT @ dOR N
and implement it IqFT fharaas oar 2
(B) Students, who prepare the teaching plan (B) B3 @1, Wi R 26T B TR B SHa
and implement it AT FeT &
(C) Teachers and students, who prepare the - e -
teaching plan and implement it © ﬁu%m = EF:I‘IE a1, W ﬁmﬂé R
(D) None of the above A Lol
(D) Sud® ¥ ¥ P T8I
4.  Personality traits of Mesomorphic individuals 4.  IAGR INIRG & I @ ¥ T W
are : T Ao T B £
(A) Traditional and social (A) TRERMER T4 Ao
(B) Peace loving and solitary (B) Wit B9 T4 g iy
(C) Energetic and angry S T A
(D) None of the above (©) QH .
- (D) ST & W DI T
- Teaching strategy is a : 5. Reror g Gl g:
(A) Plan to achieve objectives (A) eI BT YT PR Bl Aol
® N i ® fron 8 2
xtra activity in the class :
(D) None of the above sl “ : ﬁT&T
(D) SWH & § B T
6. ‘Known to unknown’ is a : 6. d W AT D AR % Udh .
(A) Teaching Method (A) Rmeor fafer
(B) Teaching Ma)ltlim (B) ReoT el
(C) Teaching Technique it
(D) Teaching Device E](::))) f;Tm&TZTr ﬂﬁﬁ
7. To understand the heredity, you must 7.  GUFHA B GHEE B ford AUH HEWH BU §
understand : GEECIEUE
(B) The law of variation (B) R &1 G
(C) The law of regression & v
(D) All of the above Eg)) ; ﬂa‘;
8.  One of the following is not the method of 8.  f=ifeiiad & & v ey Ao @ il =il @
educational measurement : (A) VETHR
(A) Interview (B) W—Hr‘r{ﬁfﬂ q-,a'&fu'[
(B) Norm-referenced Test (©) arer
(C) Questionnaire
(D) Observation (D) 3
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9. What is the real carrier of hereditary traits ? 9. aﬂa’c@?ﬁ ‘Jﬂﬁ BT IRAAD Gaed FT 8 ?
(A) Chromosomes (A) TG
(B) Nucleus (B) DD
(C) Genes
(D) None of the above Eg)) Gﬂ:\‘; ¥ P T8

10.  Achild is scared when he see black dog, black 10. U 9D Pl aﬁ Hrell fdeell U9 FTA PIE Bl
cat and black coat. This conditioning is TP SO AT AT B 39 UBR D CECEeE] -
involved in : fafkd & -
(A) Generalisation of response (A) Srgfimar BT HTERT
(B) Generalisation of stimulus (B) SENG BT AHIGRT
L Rl ol (© i (A) 3R (B)
D) None of the above 4 .

(D) ST® A ¥ P Tl

11.  The practical method to make student understand 11. fenfda @1 afo7 el &7 3 gom @
the meaning of the difficult word is to : aqeRe fafy & :
(A) Teach them usage of such words in (A) w1t @7 arqa F YO IS TS

sentences ) '

(B) Give their antonyms (B) e At I FT
(C) Give their synonyms (C) WA ¥ qaT
(D) None of the above (D) SuH # | PIg TEI

12.  Personality of an individual is which aspect of 12, g, el afdd & TR &7 P19 1 98 & ?
his behaviour ? (A) HSHIHS U&T
(A) Cognitive aspect (B) R—WsTTeHa vet
(B) Non-cognitive aspect (©) AT
(C) Intellectual aspect
(D) External aspect (D) wred v

13.  As a teacher, if you want to correct the bad  13.  3rEg[Ud 89 & A0 afe any fodr Rl & ERl
habit of a student, which theory of learning ared 9l QIR IEd &, a1 s e 991
you will keep in mind while planning the g a9 At B b Rigid @ s § @?
action ? aﬁ'{f&! fRyefa i
(A) Insight Theory (A) ; e ’
(B) Trial and Error Theory (B) WI¥ Tq ‘a’ﬁf _
(C) Classical Conditioning Theory (C) e HFa Rrgra
(D) Field Theory (D) & Rrgia

14.  Why micro-teaching is important for  14.  eT—ehel FRYY Bq HeHA—RET T IS & ?
classroom communication ? (A) q@_q‘[qv[ -gg
(A) To get feedback B) = shelt & Rem g—d
(B) To develop various skills
(C) To complete the lesson () -9 TT Gl %’q
(D) To evaluate (D) F &g

15.  The behaviour ofa teacher may be from ‘verbal’ 15. 98nw gfhar § Ree @ gaer ‘wfes 9
to ‘non-verbal’ in communication process. ‘Jenfecsd’ TP & Thal & |
(A) Itistrue (A) Tg 9 2
(B) Itis not true (B) ¥E Tad 3
EC)) Itis pa‘}i‘ﬁly ‘g“e (C) Te e w9 & wd
D) None of the above : :

(D) SWw # ¥ B T

16.  While doing group teaching, out of the 16, WHRH—REw Fvd vy el @ affma
following, which method you will apply to AR & FHE gg fforReg & 9 amg a9
solve individualized problems of each student? 4 A 37 v et ?
(A; Lecture - (A) T
(B) Programmed Instruction fEha G@W
(C) Tutorial EE; a_:]’_cpf
(D) Demonstration D) T
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17.

18.

19.

20.

2l

22.

23.

24.

While assigning a ‘project work’ to the

students, a teacher should always keep in

mind that it must have :

(A) Educational purpose

(B) Relation with real life situations

(C) Learning by activity

(D) All of the above

Right to Education Act, 2009 has a provision

for :

(A) Right to free and compulsory education

(B) No mental and physical punishment to
child

(C) Arrangement for protection of child rights

(D) All of'the above

Teaching aptitude means :

(A) Devotion towards teaching work

(B) Desire to become a teacher

(C) All the requisite abilities for profession
of a teacher

(D) Good rapport with student

From the following, which is the best method

of measurement of a student’s inner feelings ?

(A) Questionnaire

(B) Interview

(C) Sociometry

(D) Transplantation method

The cognitive behavioural skill of enabling the
learner, to understand the use of theoretical
statements in real situations is called :

(A) Understanding

(B) Application

(C) Analysis

(D) Synthesis

While writing on the blackboard, out of the
following options, what will you specially keep
in mind to decide about the size of letters.

(A) Distance between blackboard and students
(B) Distance between blackboard and teacher
(C) Length of classroom

(D) None of the above

From the following, which one is not the
element of ‘guidance and counselling’ ?

(A) Adjustment

(B) Orientation

(C) To develop emotions

(D) None of the above

Which step is not included in Action Research ?
(A) Selecting the problem

(B) Generalisation of results

(C) Formulation of action hypotheses

(D) Preparing plan to overcome the problem

17.

18.

19.

20.

258

22

23.

24,

NI g A W1 AR 6 gwe

(A) WA e &

(B) Hey ardfad ofigq @) uRRefadl | &
(C) e fpam g1 &

(D) IuYh |

e &7 PR ARfTE, 2000 F UTAUH &
(A) Fges vd sfard Rien o1 sfeeR

(B) SP B INING T4 AHRTD U< B [0
(C) T AMBRI B TREVT DI Fawel

(D) ST W

fRreror siftrgrgar ¥ aad #

(A) T & & wfa gwdo

(B) Rwd a7 & g287 &1

(C) fre @ Jgar @ Wi aifd araar &
(D) BTE ¥ 3BT Aol

forfoRed & 9 ol Remft & araRe wewmal
& A9 @ garaq wfafr e A 8 ?

(A) W

Ygi~ie U & ITAT $T aRafas TRRefE!
¥ UM B TFH 9T HEa 8 ¢

(A) Jqam ’

(B) 3T

(C) fawermor

(D) |¥elgor

WHUE W forad 99, 3R} &1 AHR T8 F
& ford amu fobey a1d &1 9 e < ?

(A) vamug den faenfdal & weg @

(B) wMug N Rd & weg A

(C) TET-F B dTg

(D) SWfH H 9§ Plg el

fer=foad & ¥ &9 91 deg ‘e v W
P 3T TEl 8 ?

(D) ST # ¥ 3 T

fhaTeT ST § PIF T Ug afford TE et 87
(A) NI BT I

(B) uRvml &1 AR

(C) forarewd aReeaall @1 Ffo

(D) TR BT X A B forg A i
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25. The curve indicating complete information  25. SfvH & IR H [ WHGRI 3T FRA qr T
about learning is called : P e ol &
(A) Curve of increasing return (A) q@qﬁ R IERGECE] ‘
(B) Curve of decreasing return (B) ENAH AT TH
(C) Curve of equal return .
(D) S—Shaped Curve (©) W e
(D) TH-3MHR T
26. What is not essential for measurement of 26 T A IR B o) AT vyd g § ?
learning ? (A) o & {{ﬁﬂ?ﬁ CAREGIRCRIE])
(A) To know tactics of teaching (B) Testi &Y duar s dRen
(B) To know validity of examinations (€) et A Rreaeaar s B
(C) To know reliability of examinations Rrera ey el
(D) To know acquired skills of the students D) &R 1 S B
27. Intelligence tests are used for : 27. 'g'ﬁ‘a’ TRIETT T FRANT fohm S #
(A) Grouping the students in school (A) faeme BET &7 e e s o
(B) Guidance purpose ' (B) v &, wioH —gg
(C) Selection purpose ' T
(D) All of the above Eg)) %Tmﬁis %ﬂ
28.  Which of the following is not the element of ~ 28. fy=ifoiRad # & & 1 ‘S<du aRad Prerer
‘Stimulus Variation Skill” ? FTdcd T B ?
(A) Set Induction (a) f=m IR
(B) Movement erer
(C) Gestures (B)
(D) Change in voice Eg)) zl_ma -
29. A teacher plans his teaching learning process  29. Ud e ue R ufhar & g
keeping in view : T T & H T ®
(A) The objectives formulated (A) g W
(B) The human and physical resources (B) W4 Td WG G
(C) Both (A) and (B) oy 2 (A O3 (B
(D) None of the above ED)) ; ( ﬁ)[ E;élg) ),
30. How will you mainly develop self-discipline 30. a9 e faenfRy & 1= iR | G-3RI
among your students ? frg upR el ot ?
(A) Giving them responsibilities (A) TP IR ST
(B) Telling them rules for good character (B) @ aRF B o Faraw
(C) Giving punishment ¥av
(D) Following the rules Eg)) mﬁ P ;
31.  Which of the following State/States has/have ~ 31. fa= § ¥ &g wwu/I=i # fo—deTd
bicameral legislatures ? e & ?
(A) Karnataka ( A) m
(B) Jammu & Kashmir
(C) Maharashtra g W IR FER
(D) All of the above eI
(D) SwwH T
32.  The revolt of 1857 A.D. was started on : 32. 1857 S0 Y Il AR g3 :
(A) 10 May (A) 10 5§ @I
(g) ;2 xay (C) 18 7 @I
D) ol (D) 26 7 B
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33.  Which is the first oil refinery established in 33, 9Rd ¥ wouuW wWifd 9 IR BF W
India ? g7
(A) Barauni (A) RN
(B) Digboi (B) %Tl_ﬁh_&;
(C) Koyli o T
(D) Bogai Gaon © "
(D) dITE Tifa
34.  War expenditure is a : 3. FgegIR:
(A) Waste of money (A) & &I gmrﬁm
(B) Investment (B) ey
(C) Forced expenditure (
C) T &
(D) None of the above s "% .
(D) S ¥ & B T
35.  Which one of the following is the oldest 35. fy=faRed § & @9 & W@ @ IART &
theory regarding the origin of the State ? yraH g & ?
(A) Evolutionary Theory (A) Remaard Rigr
(B) Patriarchal Theory ﬁm Rgra
(C) Social Contract Theory (B)
(D) Divine Theory (©) Wi T a1 Rigr
(D) <& Rygr
36. Who wrote ‘Tabaqat-i-Nasiri’ ? 36. ‘GEPIA-U-ARRY B oGH DI & 2
(A) Minhaj-us-Siraj (A) N —99-RR
(C) Shaikh Jamaludin W
(D) Barani Eg)) j:i‘[
37.  Where is the World Trade Organisation’s  37. fi¥q @R a7 &1 JEATey el Red g7
headquarter situated ? (A) &
. (A) The Hague (B) qRfTeq
(B) Washington (©) R
(C) Geneva
(D) Vienna (D) oz
38.  Which one of the following accounts is not  38. fawifeiRad & ¥ @9 & U @Al A1 (T q1U
included in the Social Accounting method of B arifore oraied Ay ¥ aftafera =€t gar 27
national income measurement ? (A) Tad @l
(A) Saving Account (B) ‘iﬁﬂ AT
(B) Capital Account C —
(C) Production Account (C) yeTe
(D) Rest of the world Account (D) 9y fowq @
39. National Human Right Commission  39. ¥Rd WRGR GRT U HFAMRIGR FIRT BT 137
established by government of India, in : g frar AT
(A) 1992 AD. (A) 1992 %0 &
% oD B) 199330 &
(D) 1995 A.D. (©) 199430 #
(D) 199530 #
40. Who built Humayun’s tomb ? 40. gAY @1 AP e e ?
(A) Aurangzeb (A) sl ¥
(B) Shahjahan (B) YMEWiEf A
(Q) Albarl (©) R R
(D) None of the above : .
(D) SUdw # ¥ BIg Tl
25/42 108 A-5



41. Expanding universe hypothesis presented by : 41, IR senve @ IRbed o @
(A) Chamberlain and Moulton (A) IR U9 Hieed
(©) Eduvin Hubb e
vin Hubble
(D) Sir James Jeans E](;)) mﬁﬁ%
42.  Which of the following committee was  42. dof #§ TES 94T IR %g fr=fafag § fg
constituted for suggesting consumer service ARy &1 T B ?
improvements in banks ?
(A) Raja Chelliah Committee (A) ST FeraT HAf
(B) Goiporia Commitee (B) g wdfer
(C) Verma Committee (C) Tu wfAfa
(D) Chakraborty Committee (D) Fsha |rAfd
43. The functions of Election Commission of  43. 4Rd & f3afa amam &1 o 8/% :
India is/are : ' (A) fatem &Ff a1 IREa
(A) Demarcation of cox-ls_tituencn‘as (B) R R
(B) . Recognition of political parties : ; &
(C) Scrutiny of nomination papers (C) T Tl B WA Fer
(D) All of'the above (D) qu?ﬁ i
44.  ‘Alai Darwaja’ was built by : 44,  3cTg SXATST BT [T HRATAT o7
(A) Kutubuddin A a,@aﬁ:[ q
(B) Titutmish EB; Foqafie 3
(C) Allauddin Khilji (C) m:l. m #
(D) Jalaluddin Khilji D) A Ryl A
45, w}ilid‘l? of the following is coldest place in 45, 44 # ¥ YRd $T Y9 SV WH B G & 7
India ?
' (A) TR
A) Srinagar
EB; Gulmgarg (B) W"i
(C) Pahalgam (C) Ygelld
(D) Dras (D) &9
46. Which one of the following countries is the 46. frfoRed ¥ 9. 9N 91 (P ¥ 9Rd @ fah
largest trading partner of India at present ? MR &7 I ¥ Fa9 g7 TR & ?
(A) US.A. (A) JOTHOT0
© UK. ®)
(D) France ©) ‘1@0
(D) WM
47.  The Indian federal system can be converted  47. ¥WRAY FUHS Jae UeHHG § Rafda @
into unitary one : TPl 2
(A) during national emergency (A) T IUEEH & G
(2; at thle time of ge(rile;alzellgecétlon (B) WHHI Fraked & ww
resolution passe tates .
ED) All of the :bove ¢ Eg)) é‘%@iﬁm I WRA B |
48. }gh:) walg, f)he writer of ‘Nagananda’ and  48. ‘SF[<el T Yol & o€@d P & ?
atnavali’ ?
(A) Banabhatta i
(B) Harshavardhana (B) &¥aE
(C) Pulakeshin IT (C) YoM fgda
(D) Rajyavardhana (D) gqEH
49,  ‘Khetri’ is famous for : 49, ‘waer feue foy ﬁﬂﬁﬁ.’ T
(A) Iron & Steel (A) <eT 9 3
3 o @ *
uminium
(D) Cotton Eg)) o ae
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50. Law of increasing returns refers to : 50. 9o ufowa @7 faw wefia & € ¢
(A) Law of constant cost (A) Rer amra s
(B) Law of increasing cost (B) wed amrd
(C) Law of decreasing cost ©) EIE‘(?{ ST fr
(D) All of the above D) i o
51. Who was the chief exponent of natural liberty? 51. Eﬂ?fﬁﬁﬁ Al Bl = yfouTeed B o ?
(A) Laski (A) R
(B) Plato (B) wer
(C) Maclver NPITR
(D) Rousseau Eg)) -
52. By the charter Act of 1833 A.D., East Indian ~ 52. 9T} Tde 1833 30 & gRI I S0SUT B! Bl
Company got monopoly on : THINHR Ae T
(A) Tea trade (A) 9 AR &
(B) Opium trade (B) FET AR BT
(C) Indigo trade
(D) Cotton trade ©) A= bl
(D) ¥d MR &1
53.  According to census 2011, which of the 53. @ 2011 & TFFT B IRd B
following Indian States has the least literacy forefolRea =i § 9§ fbg o0 & 9RRdAT 999
rate ? FHE?
(A) Jharkhand (A) FRETS
(B) Tripura ®)
(C) Gujarat R
(D) Bihar (C) TorRMd
(D) feEr
54.  Who propounded the Law of Equi-Marginal 54. MR STAIfar W @ ufoues o o ?
Utility ? (A) AR
(A) Marshall (B) TR
(B) Gossen Rt
(C) Ricardo (g) forer
(D) Mill (0}
55. Which of the following Institution in 55. wwvavs ¥ f=foRad § 9 oF A e yae
Uttarakhand is having the characteristics of TATT= P o | gl g7
direct democracy ? (A) UM 4T
(A) Gram Sabha T
(B) Nagar Panchayat (2) x g
(C) Nagar Nigam © s
(D) All of the above (D) U
56. Who gave Gupta’s period the title of ‘Golden ~ 56. 7« ®lcl PI wqof qr @I g e & o ?
Age’ ? ‘ (A) Fogo ReFr
(A) V.A. Smith (B) TOUG0 PCIEGE]
(B) A.L. Srivastava (©) Hodo o
(C) B.B.Lal . .
(D) None of the above (D) § Igi A9 3% T
57. ‘Munda’ tribes live in : 57. ‘ger St fHaT e @
(A) Jharkhand (A) FRETS H
(B) Uttarakhand (B) JTRGUS ﬁ
(C) Uttar Pradesh :
(D) Madhya Pradesh Eg)) ﬁ%’? ;{
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58.  Which value is generally considered for base 58. \j‘t&chl'cn § AR fhd g P IR T >
year in the index number ? FOH ST ?
(a) 1 (A) 1
(B) 0 (B) 0
(C) 100 (C) 100
(D) None of the above (D) SWH 4 ¥ B Tal
59. InIndia, main instrument or means of judicial 59. 9Rd ¥ =iy Afhgdr & g e g7
activism is : (A) Hfed Tifea
(A) Public Interest Litigation (B) STGEINT afarer
(B) Non-Cooperation Movement Tead
(C) Hunger Strike (f)) ?S’{Fﬁ ¥ ¥ P T
(D) None of the above (D)
60. ‘Dyarchy’ was established in provinces by : 60. Tl § Y I B RGBS o
(A) 1935 Government of India Act (A) YRT WRGR e 1935
(B) 1919 GO\.remment c?f India Act (B) WRd GR&R ARFRH 1919
(C) 1909 Indian Council Act (©) wRA FRre AR 1909
(D) None of the above D) G‘Cl'ﬁ?ﬁ ¥ 9 P
61. Lepcha tribes is mainly inhabited in : 61. o St JqEadr farg &R @
(A) Sikkim (A) fafama &
(B) Arunanchal Pradesh (B) 3vIHd 7oy 3
(C) Himachal Pradesh :
(C) fewmae wew ¥
(D) Uttarakhand (D) ff.
62. Demand for food stuff is income inelastic. 62. W EI'RjSﬁ B AT QA Jd BT 8 | 3
This is explained by : yfaares far T
(A) Giffen Paradox (A) A @ RREm gRT
(B) Engel’s Law :
(C) Gossen’s Law (B) Eﬁg: i 2_;1_: bl
(D) Ricardo’s Law E[C); Rt 3 ﬁ'&ﬁ?ﬁ[
63. Who said, “I:)iberty is the opposite of over  63. g™ bel, “WaFar Afd IET T Aam &1 ?
government” 7
(A) Laski Eg; w
(B) Seecley
(C) Bryce (C) =¥
(D) Barker (D) X
64. Who was the successor of Chandragupta II ? 64. = fdld & SRS S o ?
(A) Kumargupta (A) HART
(B) Samudragupta (B) WYETw
(g) gk_andguma (C) =TT
(D) Srigupta (D) A
65. The Himalayan mountain system belongs to  65. A6 qdd %9 =1 § 9 frey dafg & 2
which one of the following ? (A) g
(A) Block mountains (B) WT&@ o
(B) Volcanic mountains
(C) Folded mountains (C) SR T _
(D) None of the above (D) S9dH # W PIg TE
66.  Which one of the following method has been ~ 66. fA=feiRed ¥ § & A a6 Y 9rdw Red
adopted by the Reserve Bank of India to issue & grr A (qem) ot _&)_EI YA ® Wl B ?
?ngss(@f;ey}){? S (A) IR PIY JoTel
imple Reserve System IR
(B) Proportional Reserve System (8) I 3T
(C) Maximum Reserve System (C) b DI FomTel
(D) Minimum Reserve System (D) =qAdH BIY JOTTe!
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67.  When the South-Asian Free Trade Agreement ~ 67.  Zfar URMIE 9w R wwgiian (QI9er) &9 wwdT
(SAFTA) came into effect ? garm ?
(A) 1 January 2006 A.D. (A) 1 TEa& 2006 30
(B) 1 January 2004 A.D. (B) 1 a 2004 %0
(C) 1 January 2005 A.D. (C) 1 wad 2005 2o
(D) 1 January 2007 A.D. (D) 1 & 2007 30
68.  In which Mughal ruler’s period, painting was 68. fdg el AR T I B H AFABAT AU
at its peak ? T ) o ?
(A) Akbar (A) IR
(B) Jahangir ehfR
(C) Shahjahan (B) o
(D) Aurangzeb © 5. 3
(D) 3RO
69. The depositional feature by underground  69. ¥f¥wTd el @ feor & fAffa sl &
water is :
A) fafer v
(A) Swallow holes (A)
. (B) ©IeT ™I
(B) Sink holes
(C) Stalactite (C) ¥adTRe
(D) Cave (D) T
70. What percentage of India’s share in world  70. faesft @muR -ifd, 2015—20 # YR @ w9 fafa
export has been targeted in foreign trade e fae ufdera & BT Ry T AT & ?
policy 2015-20 ? A) 3% '
(A) 3% 4 228
(B) 3.5% (B) 3.5%
(C) 4% (©) 4%
(D) 4.5% (D) 4.5%
71.  In federal system there is supremacy of': 71. EUS gaw ¥ Falwdr ¢
(A) Legislature (A) TTRIMUH B
(B) Executive (B) m a.‘,:r
(C) Judiciary (C) ~rauTferaT &
(D) Constitution .
(D) SfEm @
72.  ‘Mantri (Minister)’ in later Vedic period 72.  IRAfeHHI | FHAT DI AT ATGT AT
known as :
: A) e
(A) Ratnin EB; e
(B) Aamatya P
(C) Mantri ©)
(D) Pradhan (D) W&
73.  ‘Cradle of Mountains’ is associated with : 73, ‘uddl & urer e 9 el
(A) Foreland (A) T
(B) Median Mass (B) w4 fie
(C) Tethis Sea ©) SofE TR
(D) Geosyncline
(D) &
74.  The rank of India in 2017 in Social Progess ~ 74. WMIfI® WIfq Fadid (SPI) 2017 § HRA @I
Index (SPI) is : WHE:
(A) 99 (A) 99
B) 98 (B) 98
(C) 97 © 97
(D) 93 (D) 93
75. Which one of the following is not a means of  75. f4= § 9§ ®\9 9 99 IIWE § Hefd 7] &7
Satyagrah ? SN
(A) Non-Cooperation (A)
(B) Fasting (B) S9N
(C) War ©) 3=
(D) Strike (D) gedlel
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76.  ‘Manusmriti’ is known as : 76. HIE BT W S ?
(A) Religious Book (A) gF WS
(B) Hindu Law Book B) fafer qw®
(C) Hindu Political Book EC) g%ﬂﬁﬁﬁi G
(D) Hindu Religion Guide Book D) %ﬁ o7 oy gty TP
77. Which of the following State has longest 77. fa= & @ by vy &) qover ga9 o= & ?
coastal line ? TR
(A) Maharashtra ) E-
(B) Kerala (B)
(C) Tamilnadu (C) @ ﬁc‘*ﬂ@
(D) Gujrat (D) ORI
78.  Which sector contributes the maximum share 78. T ¥ 9RT B T AT # R &7 BT ATeH
in the National Income of India at present ? Haifrs & ?
(A) Primary Sector (A) Tfs &=
(B) Secondary Sector (B) fdws &=
(C) Tertiary Sector (C) T i
(D) Manufacturing Sector (D) faftmfor &
79.  In which article of the Constitution of India 79. Hifad @il F Ieohd WRA B WU b g
mentions the fundamental duties ? FJHT o far mam g ?
(A) Article 51-A A) 3}3%@3 51-7
(B) Article 52-B EB) ;qiaj—qv Ly
(C) Article 50-A (C) 3BT 507
80. Who was the leader of ‘Gadar Party’ ? 80.  ‘TeR Ul @ AT B o7 ?
(A) Bal Gangadhar Tilak (A) T TR foas
(B) Bhagat Singh (B) Wi Rig
(C) Lala Hardayal C) T e
(D) B.D. Savarkar EDi o0 TR
81.  Palghat joins which of the following States > =~ 81.  Uorare =1 & & b af o Sirear & ?
(A) Arunachal Pradesh and Sikkim (A) FOUTEE YeW T4 fufdmd
(B) Sikkim and West Bengal (B) Rifeew w@ ufdew sma
(C) Maharashtra and Gujrat C [ ORI
(D) Kerala and Tamilnadu ED)) m@m
82.  The relationship between value of money and ~ 82.  W&T & Hed TN AW B &R & 91 Gae Bl &
general price level is : (A) Tag
(A) Direct (B) W&
(B) Indirect (©) GohH
(C) Inverse (D) s SIS
(D) Directly proportional
83.  Which one of the following is not a merit of  83. fy=foRed § ¥ G9ET 9T Yo &7 D T
parliamentary form of Government ? o T R ?
(A) Responsible Government X W’f«'ﬁﬁ ——
(B) Fear of dictatorship of cabinet (A) s
(C) Cooperation between Executive and (B) #AIMUSH &t ARIE &1 bl
Legislature (C) Fruifera o fenfier ¥ weam
(D) Flexible Government (D) el WaR
84. In which year John Marshall and Alfred 84, W7 A¥fer 3R orhe W@ & "3 ArgAcw aiG
Foucher’s book “The Monuments of Sanchi” w4 TS BT TR fog af & 7T ?
published ? s :
(A) 1814 AD. (A) 1814 50
(B) 1914 AD. (B) 1914 %0 #
(C) 1714 AD. (C) 1430 #
(D) 1614 A.D. (D) 1614 30 ¥
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85.  Which tribe resides in Kalahari desert ? 85. BIIERY HORIA A P G GonTa R St § ?
(A) Bushman (A) ggﬁ‘]:{
(B) Maoris (B) 1:|'|'3f|f[
(D) Nono ofthe © freh
one of the above
(D) ST # ¥ B T
86. Which one of the following is not an  86. fy=faRed # & &9 W U A=yar yfafsd
assumption of the classical theory of (FeRide) IR Rigra & 78 & ?
employment ? (A) T’T gferafrar
(A) Perfect competition (B) T’Tm
(B) Full employment e : R
(C) Money wages and real wages are directly © 3 v o §E A ! |§E| Seer 4
related
(D) Wages and price are fixed (D) #orqdt ar s fAfderd &
87. Which of the following is not a part of 87. o # ¥ YRAY TRw™ @ ywE=T $7 T R
preamble of the Indian constitution ? TwE?
(A) Secularism ( A) aﬁﬁvm “
(B) Socialism (B) TSR
(C) Federalism .
(D) Democratic Republic Eg)) Wi ;
88. In which year Prime-Minister Jawaharlal 88. UUMHA! WaERAd "gw 7 UK USed A8
Nehru laid the foundation of the National feeeh o1 HiT g af wd ?
Museum New Delhi ? (A) 1951 g'o
(A) 1951 A.D. (B) 1953 %0
(B) 1953 A.D. ©) 1957 %
(C) 1957 A.D. ©
(D) 1955 A.D. (D) 1955 %0
89.  Which river arises from Satopanth glacier of  89. TTRIEvE & FANY fRFE ¥ DI 9 71 FAdvera
Uttarakhand ? g7
W o w
andakini :
(C) Alaknanda (B) :
(D) Yamuna Eg)) ma‘a'ai"a'
90. Which one of the following is the correct  90. fAmifoiRad & & @1 & W Mg F T 99
measurement of National Income ? g7
Eg; NNPp) + T::lx Revenue + S;bsid(iies (A) Q:roq:ﬂ)m’omqm) + T AT + feqe!
NNPp) — Indirect Taxes + Subsidies _ g
C) NNPqu - Direct Taxes + Subsidies (B) Q?rou?fogomm} SR J;m@
(D) NNPos + Indirect Taxes — Subsidies (C) T0T0%10 ) — HCHET X +
(D) TH0TA0T 0 (gwoto) + AUTE HX — Wfeas!
91. The ‘Uniform Civil Code’ is mentioned in  91. I MRS Hedr T Seord 7+ # ¥ 5y A
which of the following ? farmar g ?
(A) Fundamental Rights (A) e INaR
(B) Fundamental Duties e
(C) Directive Principle of State Policy (B) Er\:ﬁ‘—hg—ﬁﬁ?ﬁ
(D) None of the above Eg)) Wi ¥ 9o T8 L
92. Ashoka’s Dhamma was : 92. NP PTG AT :
(A) Principals of Buddhism (A) dgd o Rigra
(C) Religious Policy . ’ (©) oifife Ay
D n t m a
(D) Se(l)icgonof Conduct adopted fro (D) T o § A T HEAR TR
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93. Which of the following States share 93. = § ¥ &F & I 9Rd P I T |
boundaries with the maximum number of Haitrp HEE & ?
other States of India ? (A) M
(A) A§sam (B) RER
e (C) TR Y
(C) Uttar Pradesh
(D) Uttarakhand (D) STRIETS
94. A perfect competitive firm in the long run gets: 9. T 11“’[ yfeantt w4 e # W R @
(A) Supernormal profit (A) ARG A™
(B) Normal proﬁt (B) HHER d™
(C) Loss - (©) 1y
(D) None of the above (D) ; ¥ ﬁé i
95.  Which among the following is known as  95. fymfeed # & s ‘oW W=y Fel Wl 87
‘Anonymous Empire’ ? (A) 3919 G8
(A) Pressure Groups (B) IoAfE T
(B) Political Parties (©) &4 T
(C) Regional Party
(D) All of the above D) N Iéii W
96.  ‘Pictographic Script’ belongs to which of the ~ 96. fyfofad # FEcEs ot g & @
following period ? FaRg & ?
(A) Vedic Period (A) N o
(B) Maurya Period
(C) Indus Valley Civilization Period (2) qﬁﬁ = T
(D) Gupta Period ED)) e W“ Id
97.  Which of the following is the mineral heart ~ 97. ¥Rd ¥ @AW &1 gST & P @ & 7
region of India ? (A) XA — TfeTg
(B) Chhota Nagpur Pleatue RTer
(C) Northern Part of Himalaya © 1 I &
(D) Malabar coast (D) HrelleR q€
98. Which of the following country is not  98. Wgdd ¥ W¥ @ GRem uRvS § e & & S
permanent member of Security Council of 1 <y W) gew e 8 ?
United Nations Organisation ? (A) §‘0$0
(A) UK (B) J0THOT0
(B) U.S.A. oy &
(C) China ©
(D) Japan (D) SiTaT
99.  Depreciation expenses are included in : 99. forurac &7y wftaferd BT & ¢
(A) GNPump (A) GNPpp#
% mmv (B) NNPgp
fc -
(C) NNPgH
(D) None of the above ¢
(D) Sudh § | P T8I
100. The partition of Bengal in 1905 A.D. was  100. 1905 30 # §7Te T fror fobaT o
done by : (A) @S BT A
(B) Lord Litton
(C) Lord Minto © g i ;':' g
(D) Lord Curzon (D)
e ok o o ok
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AV A

F  gfe R 1@ s aoiT A e YR @ SRTaAT o £ ar SRieh a9 & AR @R

If there is any mis-match in Hindi & English version, then english version will be acceptable.

F Bqe ATHIR TTR-TF T AT IeR W & e T | A0TH0SRY SER-TFF T TR R BIE
araifoe Rred 7 o ol A & B W A s AW o | 7w A e v 9 S v aw s fr e @
e W woe o @1 e ¥ e o o R § gRe o B &1 e S O afia 21 39 TeR At
FRIAE T R AONHS 3@ fod T |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

e a1 (Rough work) ¥e T § & far v
Rough work is to be done in the Question booklet only.

F g ¥ B IR ¥q I TR R D SFER TF @ g 3 B IOR R | TF § e R T g 7 9
TR T P e a1 97 F1 @ge A B Tord S} /AT A |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one ¢ircle shall be treated as wrong answer.

FETERT : AT ST et v @ we W 41 6 YR §

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? g3 5 yar 31 g g ?
(A) Solid mixed with a gas (A) T ¥ e
(B) Gas mixed with a gas B) i @ =
(C) Liquid mixed with a gas (C) v fif¥a 7@
(D) Gas mixed with a liquid and a solid (D) %4 v 3 fafda

I IS FTAR T T @ G Iae/fiped (D) 8, A Ian-TFe ¥ g9 I A Hafd Rvg-avg afew v wen
41 % 9 B g I 39 IR W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

we fafey Toa fafr

Correct method Wrong method

OO

(@afy o fifr & f 5l orw Mt # B frew T @ O W SR @ 9 e @ i @ oER e IaR
A g ST Wl 3d FHOMHS a1 & )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T qdeifal @ Ry v @ wore & o @ AR oF 3@ wE-gRaer § ¢ we s go wen eyt semar
e e A SES gE e od Mle @ < R e 7o Sel A o w9 s 3 B gun of 99|

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

T oler ¥ sowie @ A dageek aU 9 SAERIE W SR Alagd B, YoR S &) A e qofe: afdfa 2

Use of electronics/manual calculator and any electronic equipment like mobile phone, pager etc. is not allowed.

1. 59 906§ NS 3B BT AGHH ¢ | TAD Td Sk @ [0g % 3 HIeT T
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.

2 TG TE DA AR W ARG TN A R A AN 3% 51 I & | § N T I} B A % 3D Prer S|
On giving of two or more than two answer for every question, %4 mark will be deducted.

3. 39 UE-YRaaT # o 3geWid 3R T F1l (Rough Work) 3 3faRaw g9 7 ford |
Do not write anything except the Roll Number and rough work in this Question booklet.

4. T GG B T¥E OMR Ui B R BFF 3 WF F A8 iR dR-4R o8 wendt ofy B odenlt o w
o SR o A 9 9 et wi s Flas @t Sueer st |

Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



